OPTIONAL TYRES AND SPARES

RS216L
RS217S
RS217G
RS217SG
RS217-R
RS219S
RS220
RS208A
RS208B
RS208C
RS208D
S-409S
S-421A
S-421C
RS226
RS228
RS229
RS230
RS231
RS233
RS234A
RS234B
RS234C
RS234D
RS213B

HARD front lowered tires (x4)

Rear tires SOFT 22 shore (x4)

Rear tires NEW G25 racing compound (x4)

Rear tires SUPEGRIP 15 shore (x4)

Rear tires “RACE” 35 shore (x2)

Rear wheels + sponge tires + M3 screws “glued”

Sponge tires (x2)

Brass “nut” H1.0mm - ZERO FLOATING (x4)

Brass “nut” H2.0mm - (x4)

Brass “nut” H2.5mm - (x4)

Brass “nut” H3.0mm - (x4)

Brass bearings for axle holders 3/32” axle (x2)

Screws M2x6 Sink Head for Allen Key 1.3mm (x10)

Screws M2x4 Sink Head for Allen Key 1.3mm (x10)

Nylon with aluminum hub AW spur gear 23T - @ 13.5mm + M3 screw (x1)
Nylon with aluminum hub AW spur gear 25T - @ 14.5mm + M3 screw (x1)
Nylon with aluminum hub AW spur gear 26T - @ 15.0mm + M3 screw (x1)
Nylon with aluminum hub AW spur gear 27T - @ 15.5mm + M3 screw (x1)
8T brass pinion @ 5.0mm (x2)

10T brass pinion @ 6.0mm (x2)

Rubber covers for body post 4.0mm - H 0.5mm BLUE (x4)
Rubber covers for body post 4.0mm - H 1.0mm BLACK (x4)
Rubber covers for body post 4.0mm - H 1.5mm WHITE (x4)
Rubber covers for body post 4.0mm - H 2.0mm RED (x4)
Brass body “flat head” screws for 1.5mm Allen Key (x4)

FORD ESCORT SPARE PARTS

RS310
RS311
RS312
RS313
RS314
RS315
RS315B
RS236
RS239

Full white body kit

White body parts set

Clear parts set (windows + lights)

Lexan cockpit set

Aluminum anodized body plate
Aluminum anodized chassis plate
Aluminum anodized junction bar
Unpainted wheel inserts - MINILITE type
Unpainted wheel inserts - BBS type

RS0183
Escort Mk1 #4 DRM 1971

RSO184
Escort Mk1 #29
RAC 1970

RS0185
Escort Mk1 #45
VMW Woodman

WHITE KIT
RS0142
Escort White Kit

www.revoslotcars.com
revoslot@revoslotcars.com

FORD
ESCORT

MK

1/832 SCALE




StotCars

PrOfeSSionaI meChaniCS YOU CAN FIND ALL THE SPARES AT BRM MODEL CARS FMM
High guality components

RS211 21000 rpm

Motor + wires RS217
RS216 RS218 Front/rear RS221 RS208 2?:;\13;?;0
Hard front tires aluminum wheels + M3 Front axle holders +  Brass nuts (x4) 30 shore (x4)
(x4) screws screws (x2) + screws for
chassis floating
“»\ L P Brass axle
J '\Vf spacers
’u j
RS222
Rear axle
holders +

screws (x2)

®e

S$-410 Ball bearings
3x6mm flanged (x2)

RS224 d

3x46mm steel axles

RS225
3x12.75mm steel front
semi-axles (x2)

|

RS210W Gui- RS210 Guide

de 9mm depth  7mm dept
wooden tracks (x2)

Floating

(x2) adjustable
[v chassis
L (e R331_5 AIuminur_n \ =
- anodized chassis plate . P
RS210S Guide b RS227 Nylon with
steel screws aluminum hub AW
(x2) . spur gear
-
== . = 1
p— @ photo-etch - serew (x1)
RS210SP RS314 Aluminum anodized RS213 Full set of screws RS232

9T brass pinion

Guide spring (x2) body plate Ayt




